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Which philosophy says “Do not care to know various theories about God and Soul;

do good and be good; that will take you to whatever truth there is”?
(A) Sankhya (B) Buddhism (C) Vedanta (D) Jainism
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Which philosophy developed the monitorial system in classrooms ?

(A) Vedic (B) Vedant (C) Islam (D) Buddhism
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Why is mother regarded as the first teacher of a child ?

L. The basic learning of the child occurs in the company of mother only.

II. Informal learning of the child with the mother is more effective than the formal
learning in later years of life. ’

IIL The child lives in the womb of the mother for 9 months.

IV.. The mother tries to impart her best to the child.

(A) All the above four statements are correct.

(B) Only statements II and III are correct.

(C) Only statements IT and IV are correct.

(D) Only statements I and II are correct.
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Equality of Educational opportunities is possible by

(A) Extending portals of educational institutions to all without any discrimination
(B) Opening more educational institutions

(C) Privatizing the education system in the country

(D) Public funding of Education
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In the conditioning approach to learning :

(A) The subject should be in readiness to receive the unnatural stimulus.
(B) The unnatural stimulus follows the natural stimulus,

(C) Response to natural stimulus required to be reinforced.

(D) The natural stimulus follows the unnatural stimulus.,
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In the process of statistical inference, the Type II Error is committed when we
(A) Accept a true null hypothesis :

(B) Reject a true null hypothesis

(C) Reject a false null hypothesis

(D) Accept a false null hypothesis
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Which of the followiﬁg works as a powerful barrier against vertical mobility in
India ? '

(A) Caste (B) Class
(C) Occupation (D) Jobs
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“All systems of ideas are subject to verification by consequences” is the core of the
Philosophy of

(A) Idealism (B) Existentialism
(C) Pragmatism (D) Realism
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Intelligence Quotient is computéd by which of the following forrnula ?
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The major objective of a qualitative research study is to
(A) understand a process or concept

(B) study group-differences

(C) predict relationships

(D) explain variation in measurements

ﬁuﬁ%w,qamﬁﬁ#am%mww@qsﬁﬁmélsﬁ

USrE @ WE B BT g9 AR | ,

(@) Wi, stwRe wfureear, a@ & wieammam, @i
wfsareTemar ;

(a)ﬂ%ﬁdﬁmﬁ%mwm,aﬁg%ﬁmm, MraiRes  wfearerasar,
Td—ifearcHear

(@) dvaRe dfarere, Wadkdte e, -, 99 g
wfsareea

(@) wadxifre wfFareear, qE—wfsarerear, Jogfy wiearwedr, stv=iRe
HfeareTemar _

According to Piaget, cognitive development in human beings take place through
four important stages. Identify the correct order of these stages.

(A) Pre-operational, formal operational, concrete operational, sensory motor
(B) Sensory motor, concrete operational, formal operational pre-cperational
(C) Formal operational, sensory motor, pre-operational, concrete operational
(D) Sensory motor, pre-operational, concrete operational, formal operational

P.T.O.




80.

81.

'Hﬁ‘éﬁﬁﬁam—cﬁa,wéﬁaﬁm,ﬁmﬁﬁwﬁwswﬁa@ﬂa%i"
s G siiferea aar 87
(1)%%%%%%&@%

(2) Rem wrfoie qugat @ fog e €

(3) Rrem o= @ e B g ararelt w9 wHef Far dar o) €
(4)ﬁrmwﬁ$m§?mwﬁéeﬂvwmmaﬁtgaﬁﬁmm%l
HE W FE SR BT TGT HRQ

Te
(@) 13 3 @) 2 3% 4
@) 18k 2 () 3 iR 4

“Investment in Education is the single, largest item of expenditure, next to defence,
in many countries today.” What is the social justification ?

L. Education has become a pressing need under globalization.

II. Education is the Panacea for social ills.

III. Education produces unselfish and competent leaders for establishing polity.

IV. Education helps to procure security, prosperity and social well-being for all.
Choose the correct answer from the given codes :
Codes :

(A)Iand ITI B)Iand IV
©Iland I (D) IIT and IV
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The feasibility of a research study should be considered in the li ght of
(A) Potential ethical concerns

(B) Skills required for the researcher

(C) Cost and time required to conduct the research
(D) All of above
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Which of the following won a Nobel Prize for his pioneering work on learning
theories ? '

(A) R.M. Gayne (B) J.S. Bruner
(C) Lev Vygotsky (D) Ivan Pavlov
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f‘The responses which are followed by satisfying after-effects tends to be learned”,
EZ) The law of exercise (B) The law of effect
(C) The law of readiness (D) The law of relativity
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The proposition about research that you do not agree is

(A) Research improves the quality of teaching,

(B) Research leads to finding solution to too many problems.
(C) Research is only a personnel achievement.

(D) Research contributes to social progress of the society.
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What is the basic criterion for social class ?
(A) Occupation (B) Status
(C) Religion (D) Locale of Residence
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“School is a community in miniature, a micro society.” What do the terms
“Community” and “Society” signify in the context ?

I. Community signifies freedom.

II. Community signifies equal treatment to all.

IIL. Society signifies equality of educational and job opportunities.
IV. Society signifies control.

Choose the correct answer from the given codes :

Codes : .
(A) Il and II (B)IandI
(O lland IV D)land IV
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Pavlov and Skinner belongs to
(A) Structuralism (B) Functionalism
(C) Behaviourism (D) Gestalt Psychology
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“Give me the baby and I will make it as you desire” was the diction pronounced by
(A) Guthrie (B) Pavlov (C) Skinner (D) Watson
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How is the term “Culture” defined ?

(A) As a complex whole, which includes virtually everything, acquired by man
being a member of the society.

(B) As the using of the latest in costumes, home appliances, cars, etc. in the day to
day life.
(C) As the using of computer, mobile phones and internet.

(D) As becoming members of prominent clubs, wearing costly dress and eating in
luxury hotels.
()

P.T.O.



89.

90.

91.

92.

q&ﬁqm,wmﬂﬁ,ﬁmﬁé?mmﬂﬁﬁm%l
(&) WHERR S 9@® avg B 2 N 16 o7 g1 BT |

(7) wTg B

() Swe T Wi wredR

(@) =

The technology useful to student who is visually impaired, but not blind

(A) Software that magnifies everything by 2 to 16 times
(B) Handsfree keyboard '

(C) Text to speech software
(D) Touch screen
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Which of the following is true for intelligence and creativity ?
(A) All intelligent children are creative.

(B) All creative children have high IQ.

(C) Some creative children have high IQ.

(D) Some creative children have low IQ.
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L.A.S.Es in teacher education were started in
(A) 1964 (B) 1968
(C) 1986 (D) 1992
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What is Guidance ?

L Helping a person Systematically to overcome his/her difficulties.

II. Helping an individual to understand himself/herself, his/her needs and his/her
environment.

I11. Helping a boy, going out of the way, to score more marks.

IV.Giving a mild electric shock and activating the brain of a person mentally

disturbed.
Choose the correct answer from the given codes :
Codes :
(A)Iand IT (B) Il and III
(C) Il and IV D)IVandI
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Emotions are usually governed by :
(A) Central Nervous System (B) Automatic Nervous System
(O) Peripheral Nervous System (D) Sacral System
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Pre-test-post-test randomized matching control group design is an example of
(A) True experimental design (B) Pre- experimental design
(C) Quasi-experimental design (D) Post-facto experimental design
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What are the various concepts of curriciulum ?

I. Experience II. Subject
IIL. Objective IV. Teaching ,
Choose the correct answer from the given codes :
Codes :
(A) L II and IIT (B)IL Il and IV
O I IVandl - D)IV,Iand II
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The Father of Creativity %
(A) Charles Spearman  (B) Torrance I3.P.
(C) Thorndike E.L. (D) Skinner B.F.
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Which of the follow}ng Commission first decentralized the primary education ?
(A) Hunter Commission (B) Mudaliar Commission

(C) Kothari Commission (D) Sadler Coramission
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The cohcept of Intelligence Quotient was first given by
(A) J.P. Guilford (B) Alfred Binet
(C) 1.S. Bruner (D) William Stern
(

JeaTas R & afdg SisH § yer R o 2
(&) fawaawg argTe

@) @ERe ugusH

(\) dqof ferer) araraxor

(%) Srgeem UrgHSH

10
P.T.O.




100.

(B) Practical courses ;
(C) Complete school environment
(D) Research courses
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While conducting experimental research a researcher should contrbl the
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- Internship Programme of teacher education provides
“(A) Content courses

(A) Independent variables (B) Dependent variables

(C) No variables
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(D) Extraneous variables
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